57.8547

37.9664

25.7143

32.1404

£

— 5.82609

FCy=1007.504#

19.8882

2.22499

FCy=1570.404

FEx= 1700.11# m

FDx=2664.52F

3 >
> = 3
- ~ (=]
] o ] @3
2 &
T @
L
o
2
FBe= 2534.814 &/
=
<
'}
0
o
o0
(]
I
m
[
SHEAR DIAGRAM CALCULATIONS
205.95
FEy+FDy+FCy-+FBy=0 #
—903.760#+1109.71#—1007.50#+801.554#=0 ,
0 i
,
b
—903.7604 —801.55¢
B
L
o
o
2
MOMENT CALCULATIONS 8
Msy.1404=—903.7604*32.1404=—29047.2"4 bas0s”
My 1404+ =—903.7604*32.1404"~2664.524*3.19796” =—-37568.3" - 87
My ggss=—903.7604+37.9664"+1109.71#+5.82609"+2654.524%(3.94184—3.19796)—1700.11+3.94 183 =—32574.1"4
Msy 9665+ =—903.7604*37.9664"+1109.714*5.82603"+2654.524%(3.94184"—3.19796")
—1700.11#+3.94183"+1570.404*(3.94183"+2.22499") =—-22889.8"#
Ms;.g547=—903.7604%67.8547" — 1700.11#%19.2583" + 1109.71%25.7143+2664.524*(19.2583"—3.19796") 20047.2°)
—1007.50#*19.8882" + 1570.404#*(19.2583"+2.22499)=0.518021=~0 :
—32574.17#

—37.5683"#



